J. InsTalanon ana operanon mstrucrions

Note: please read the instructions carefully before installation!

TONMOUNTS S:cepl: Use the wal‘l plate as a templet taldrill Step2: Screw six lag 'bolts into the plastic
LCD BRAjuuClICET NUMBER 3023F six holes of 8 diameter and 50 depth in the | concrete anchors through the wall dead plate to
concrete wall or the hard wood wall. Then | make the dead plate and vertical wall into a
1. Part List Wedge six plastic concrete anchors into the | whole .
holes. '
No. Name of part Material Amount
A Wall plate Q215 1
B TV Fixed plate Q215 1 O
c & 4 Flat washer Standard part | 4 G
D &5 Flat washer Standard part | 4
E 6 Flat washer Standard part | 4
F STS.5*s5Lagbolt | Standardpart | 6 8
G ¢ 8*40 Concrete anchor PA 6 @ @ @ W{D ﬁ:o Step3: Install TV fixed plate on the TV back. | Step4: Hang the TV fixed plate in connection
H M4*8 Phillips screw Standard part 4 * o e Select four suitable bolts from the parts |with the TV panel on the wall dead plate.
I M4*12 Phillips screw | Standard part 4 = & ﬂlﬂ Q]:l @:l a]:I €': bag and screw them into the bolt-holes in the S
J | M5*8Phillips screw | Standardpart | 4 B 2 back of the TV.
K | M5*10 Phillips screw | Standard part 2
L M5*12 Phillips screw Standard part 4 Wall ] y ;
M | M6*S Phillipsscrew | Standardpart | 4 \._\ e » _.
N M6*12 Phillips screw Standard part 4 \—TV
Sl
2. Name of parts
F

Wal |ﬂ\

—
1

P
=

_‘_\_-_‘_‘_\_\ T ———
4. Notes
Item No. Symbol Name Material Quantity Remark .
3023 F01 TV Fixed plate Q15 3 5=15 (1) The wall plate should be fixed on a solid concrete wall
3023 F-02 Wall plate Q215 1 5=1.5

(2)Must Be Fitted By A Professional




